
C ( 1 : 3 )

Base frame

A ( 1 : 1 )

Tool mounting flange A6

B-B 

C

A

B

B

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

kg

m=
kg 

 

 

P=

U=

Imax=

kW

V / Hz / Ph

A

 

 

 

 

p=

V=

bar

l/min

 

 

 

AT_00010

A

proj. storage 

surface =  m²

`120°

`360°

`360°

- 90° / + 120° (*)

`185°

Range fully usableAxes

A2

A1

 Motion

- 184° / + 67° (*)

A5

A6

A4

A3

Connecting dimensions, 

valid for article numbers AT_00010 and AT_00010-01

1
2

5
8

0
0

5
5

0

975 135

698

19831583

8
3

3
2

3
3

3

8
5

1
8

0
4

6
5

40

40

200

184°
- 

6

7

°

+

 

1

2

0

°

+

 

9

0

°

-

 

3

0

M8 x16 (2x)

M8 x8,5 (4x)

Kinematic origin

A2-axis

A3-axis

A4-axis

A5-axis

A6-axis

(150)

Motion range of A5-axis

rotation center

Max. center of load (45kg)

TCP

(Tool Center Point)

2
0

(176,78)

(210,85)

250

`0,02

(176,78)

(210,85)

248 4

(
1

3
4

,
3

2
)

(
1

7
6

,
7

8
)

(
1

3
4

,
3

2
)

(
1

7
6

,
7

8
)

2
0

 
H

7

2

0

n
H

7

(
2

0

2

0

,

0

2

1

)

n5

0

0

4

5

°

1

2

,

5

°

4

5

°

1

2

,

5

°

n24 (8x)

for screws M20

(DIN ISO 4014/4017-8.8)

the tightening torque

for these screws 

is 390 Nm (in steel frame)

85

115

1
1

5
1

6
5

1
9

5

107 300

5
0

5
0

3

0

°

6

0

°

6

0

°

6

x

 

(

=

3

6

0

°

)

j 0,04

n8

0

5

8

8
n

H
7

(

88
,
0

1
5

)

5
0

+
0

,
0

0
4

0
,
0

2
5

+

Ø

9
3

,
5

Ø 9
4

-
0

,
0

3
5

0
,
0

0
4

-

Ø

6,5

1

3

0

°

2

13

13,7

8
M

 
(
6

x
)

3

0

°

+x

+z

+y

+z

+x

+y

+z

+y

+x

articc6-2118-45kg

Axes 6

Payload (on TCP) 45 kg

Supplementary load on arm 40 kg

Supplementary load on 

rotating column

70 kg

Reach 2118 mm

Mounting position Floor, ceiling

1

2

0

°

-

1
2
0
°

+

3
6

0
Ø

Max. area center of load

More information can be found in the

document "Load on tool flange"

R

2

8

5

A1-axis

2
9

3
,
4

3
5

1
7

,
5

6565

R

1
9
1
8

90

407

939

TCP

(Tool Center Point)

4
3

3
1

4
5

0

M8 x15 (4x)

for the supplementary load on rotating column

M12 x16,5 (8x)

for the supplementary load on rotating column

272,5 251,5

Motor size may vary

Motor size may vary

Motor size may vary

Motor size may vary

Motor size may vary

Motor size may vary

More information can be found in 

the document "calibration dimensions"

M8 x15 (6x)

for the supplementary load on arm

M8 x12 (4x)

for the supplementary load on rotating column

Rev_04

(*) only if the axis 1 motor doesn`t 

exceed a length of 250 mm, 

otherwise these values must be 

reduced to avoid any risk of collision


